=LFDb

3UDFRZQLN 5RINEDG  PJU 3\]LDN $IQLHVIND 7\J

o
™
7\
7\ 7\
31-$ VSUDZQRGFL ‘ :
JLQIHJURZDQH PJU ZVICSGR | |z VICS GR
3\]IDN $IQIHVIND = ( WHUDIXUR]T] [WHUDIXUR]Q
> 2/ 7/ 1-3% DZVIZD DZVIZD
=DICFID RQUQH Z ¥ uz PJy | |uz PJ
= CFID RQIQH Z NI 3\]ION 3\]IDN
c $JQHVIND | [$3QHVIND
N - -
)$/ )$/
& &
=DICFLD =DICFLD
RQIQH Z RQIQH Z
INJRGQLDFK| [INJ
7\ 7\ 7\ 7\
31-$ DQDI]D L SIVDQH 31-$ DQDL]DL SLVDQIH ™ ™ 31-$ DQDI]D L SIVDQIH
=DJDGQIHQLD IHNVIX P JU 3\]LDN IHNVIX P JU 3\]LDN IHNVIX PJU 3\]LDN
LQIHUNXOIXURZH Z SIQHVIND = $IQHVIND = ( ZVICSGR | | = VICS GR $IQHVIND = (
RGQIHVLHQLX GR NUDlyZ 2/ 7/ )$/ /)5 IHUDIXUR]Q [WHUDIXUR]Q 2/ /7
DQJIRICI\F]Q\ PJU DZVIZD DZVIZD
8 3\]IDN $IQHVIND=% iz PJ iz PJ
x -1/ = 3\]IDN 3\]IDN
T = N\J  ]DICFID SEJ(QLHV]ND SEJ(QLHV]ND
RGE\ZDID VIC RG
)$/ )$/
& &
=DICFILD =DICFLD
RQUQH Z RQUQH Z
[AW] [AW]
—
o
7\J 7\ 7\J
=z 31-$ VSUDZQRGFL 31-$ VSUDZQRGFL 31-$ VSUDZQRGFL
< 1LQIHIURZDQH PJU JLQIHJURZDQH PJU 1LQIHIJURZDQH PJU
Q 3\]IDN $IQHVIND=% 3\]IDN $IQIHVIND=% 3\]LDN $IQHVIND=%
0 )8/ 7/ 7-6 )5/ /1 &+ /7 7/ 1.(
=DICFID RQIQH Z INJ =DICFLD RQIQH Z IN\J =DICFID RQIQH Z INJ
o
©
o) 7\G] 7\ 7\J
o
T -+LVIRUD HUDIXU\
oy DQIIRIC]\F]QHI FZ PJU +LVIRULD (WIHUDIXUN +LVIRUD (WIHUDIXU\
I 3\]IDN $IQHVIND=% DQJIRICI\F]QHI FZ PJU DQIIRIC]\F]QHI FZ PJU
o )$5 = 3\]IDN $IQHVIND=% 3\]IDN $IQHVIND=%

l l

)$5 =

)$5 -




3UDFRZQLN 5RINGDG  PJU 3\]LDN $IQLHVIND 7\J

=LFDb

QLHG]LHOD

7\G]

- VICS GR
WHUDIXUR]Q
DZVIZD

iz P
3\]IDN
$IQHVIND

=%

)$5

7\G]

Z VICS GR
WHUDIXUR]Q
DZVIZD

iz P
3\]IDN
SIQIHVIND
=%

)$5




